CSE 260M - Homework 2

Always show all work for full credit.

1. Review: Fill in the missing values in the following table (all values are unsigned)

Binary Decimal Hex

1010101

0x14A

238

2. Write a Boolean equation in sum-of-products canonical form for:
A B C Y
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3. Write a Boolean equation in sum-of-products canonical form for:
A B C D Y
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4. Write a Boolean equation in sum-of-products canonical form for:

A

—_—— == O OO O

B

—_—— OO == OO

C

_—O = O = O = O

Y

—_—— OO = O = O

5. Write a Boolean equation in sum-of-products canonical form for:

A
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B
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C
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D
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6. Implement the below with only NAND gates (it’s the same function in 3). Sketch the circuit (Or use JLS to
create the circuit diagram)

A B C D Y
0 0 0 0 1
0 0 0 1 1
0 0 1 0 0
0 0 1 1 1
0 1 0 0 0
0 1 0 1 0
0 1 1 0 1
0 1 1 1 1
1 0 0 0 1
1 0 0 1 0
1 0 1 0 1
1 0 1 1 0
1 1 0 0 1
1 1 0 1 0
1 1 1 0 0
1 1 1 1 0

7. Write the Boolean equation for the circuit below (no need to minimize: give the exact equation implemented
in the circuit):

A B C D

VIVIVIY

JUUUU




